EARAROBEEIERT — 2 N— IBISH —F

20135F9A17H () 11mEPIRI4H

Al 2 IAREEF SR 2K ‘ (XM&] W ‘ (R — | 4 (&) 17000 &
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
BN :51. -1-1- . — AISH (ted)
1lsls|TU=LA i 2 ) 1(5_1)8 1-1-1-1 | 39.6 2 :1+224) 2z 5
L:214¥Yv b B:5E—FFER N E454%
— . I : 01— - S7% timE
2 37Uz v -0 2 | Bl 1(.;5/109 2-2-1-1 | 39.7 7 (4+2; EQ%‘T (lei3s)
LEILY7FvR BILHARE It ABANS
: o2 | Bt 1:52.4 4-4-1-3 | 40.2| — 4 460 |/NEFE (dtimiE)
3lglg| KU—LNAT 54.0 (2 1/2) (-10) | EOE .
AT MR BreALTI RFAIH
N 4 2 | HLERE 1:52.4 5-5-5-5 |39.8 | — 3 466 | ABEE— (dtiEE)
4 P E 54.0 (NF) © |THEE
L:IF7IN—FK BT7NMNLITSHIS Il &7
N BRARS 2 :53. —-3-1- . — IWEMA ()
5 4| FLTTNT 7 o2 B 1(533)1 3-3-1-3 | 40.9 1 (436) = Eamtg
R8T BV /EY-—YI— pat:ibie)
s 4 o2 | BETE 1:53.5 7-7-6-6 | 40.5| — 6 432 | ESEZ (dtiEE)
617 7| FESH Y~ 8.0 & vy | ) xmEE
XM= ThR—b BFARTIREZ— PN
. . 4 o2 | BREE 1:54.4 6-6-7-7 |41.2| — 5 418 | EZEE (dtFE)
ZH 6| TXAHFEX 54.0 ) o | &) mixwss
R:77NTI5T B:IUE-INRY =E A
= s 2 | WTHH 1:56.4 8-8-8-8 |41.8| — 8 460 | WHEFIR (LiEiE)
g8l111|7 1747 54.0 (54 4) ) | B taAds
L:T7htEy b BTy [P e ]
@ 1—F—@&BIEf
13=zr= 5,3,4,8,2,6,7,1
Aol=5r= 5,3,4,8,2,6,7,1
BEE (3,4,5,8),2,7,6,1
A== — (3,5),(4,8),2,7,6,1
[ RN
B OB 5 470M 714K 3-5 830M B E 3-5 4,930M &R 3-5-8 4,940
8 B 5 160 5-8 400MH B H 523 7,890 K31 Ha8nt 39,970/
3 510 3-8 1,710
8 350M

ABICOVWTRDTEEERROODE. TR LIV,




